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1 9/4 H5T1y7 5.5E-2 5.5E-2 <8.7E-6
2| o9/a HeTy7F 5.0E-2 2 0E+0 <15E-5
8/23 5, 6ERERS— 8.2E-3 <2.53E-1
o a2 E{S}M/C SEREY vy 4 —RUSHEREZHRES vy 4 —BOX | 4, (2 53E1
5| 10/2 5, GElERS— I~ 9.4E-3 <2.53E-1
6| 10/5 3B FEIE 2.0E+0
71 9/15 LEH EIY—F. G| SEEAEAY— K 2.0E-1 2,261
8| 9/19 18# Rw,/B 1FL 4.0E+0 064E+2 | 514E-5
9| 9/20 128 42—E> 1FL 45E-1
0] 9/27 32T, /B1. 2FL 45#T, B2FL 7.0E+0 70E+0 | 5.97E+1
11| 9/28 AE4#%T /B. Rw,B 1FL 6.0E+0 10E+1 1 58E+2
12| 9/29 AEH R/B 1FL. A FEEOR,/ BEMY— K 9.0E-1 7.78E+1 2.30E-5
13| 9/26 1-284 T,/B 2FL~1FL 2.5E+0 7.43E+1
12 10/11 HEAGHNERE 1FL BARES (A) 10E-2 90E-2 | 2.11E+0
151 10/11 HEAGRNERE 1FL BARES (B) 3.0E-2 1.0E-1 1 55E+1
16| 10/10 KEREAT B 40E-4 <179E-1 | <3.656-6
17| 10/4 HU U HEFTRREE (M hbREAMT) <21E-1 <6.1E-6
18| 10/3 —BRET T C 40E-3
19 10/3 —BRET 7D 40E-3
20| 10/3 —EEETYFE1. E2 6.0E-2
21| 10/3 —ERET) 7 H 40E-3
22| 10/3 woLE Ty 7 15E-3
23|  10/5 woLE Ty 7 6.8E-3 <0.54E-6
24 | 9/22 B4 CNUH—EETF L FEH 16E+1 2.0E+1 11E+2
25| 9/29 v— R (BMESNERERERET 7) 1.0E-1 10E-1 C18E+0 | <4.77E-5
26| 9/27 2Et mEY—F Rw/B 1FL 2.5E+0 2.03E+2 | <3.66E-5
27| 9/28 G4 CNUHEETFL AWHHAD 8.0E-1 8.0F-1 5.3E+2
28|  9/26 O AEEE2F L 18E-3 18E-3 45E+1 | <3.68E-5
29| 10/7 3EH% R/B £ <70 14E+0
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ERBIERS (SPTERE~YM MM UA—EBE, JOEXEFEBETF 3.7E+2 *1|<4.07E-5 *1
31| 9/26 D) 4.5E+0 ASEF0 HsoEL ) |(<1.21E-5)
*-1 R X
32| 9/28 PARNUH—BE2FL 1.0E+0 8 0E+1 (><15-22EE+_31) (<<41-0271EE_55) '
%-1 _F x-
33| 9/27 PARNUH—BE2FL 1.26+0 9.0E+1 (><15-22EE+_31) (<<41-0271EE_55§< '
X -1 3
34| 9/26 YA RNUH—BE2F L 6.5E-1 8.0E+1 (3<-2E2+EQ_U (<<41-0271EE_55)
*-1 £ ox
35| 9/21 YA RNUH—BE2F L 9.0E-1 4.0E+1 (><15-22EE+_31) (<<41-0271EE_55)
%1 _E %
3| 9/27 SPTERE~YA AV H—ER 1 5E+0 1 5E+0 (> <15-22EE+_31) (<<41-0271EE_55)
37| 9/19 SPTER AUMEAO~YA FNAYH—ER Ffl 7.0E-1 21E+]
X - _ % -
38| 9/13 YA bV H—EE1F LEM 6.0E+0 6.0E+0 fééEgé_U ' (242853;_5) '
*-1 _q ¥4
39|  9/12 YA AU H—EETF LFEH 1.0E+1 3.0E+2 (1<'%E3+E3—1) (7<-7172ESE4_5)
ERBIERS (SP TRE~YA FUH—BE. JOEATRE]F 3.7E+2 % |<4.07E-5 %
401 9/11 D) 1.0E+0 TOEX0 |5 3E-1)  |(<1.23E-5)
x- _ A *-
41| 10/4 SPTRE~Y1 FAVH—RE 1 OFE+1 2 4E+2 (><15'22EE+_31) ' (<<11'4241EE_45) '
22| 10/5 A RNV H2FL 2.0E+1 2.0E+1 17E+2
*-1 EpX-
43| 10/3 YA RNVH—EBR2F L 2 3640 1 0E+2 (><15-22EE+_31) (<<51-7261EE_55)
44| 10/4 BN AT 3.0E-3 30E-3 | <14E+0 | <457E-5
45| 9/30 v— R (EMBRERERETY7) BEE158, 168 3.0E-3 3.0E-3 35E+1 | <4.77E-5
46| 9/27 v— R (EMBRERERETY7) BEE15C, 160 5.0E-3 5.0E-3 A0E+1 | <3.99E-5
47| 9/27 v— R (EHBREZERET)7) BAB%L 7 A5y KB 10E-3 10E-3 1.0E+1
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48 9/27 .65 HBREARTILAl AL FREZTTZUT 2.0E-1 3.0E-1 6.1E+2
49 10/5 Y— M EREBERERBRELT 7) 1.0E-1 7.7E+0
50 10/3 — F(ERERERHESREL) 7) 7.0E+0
51 9/22 35 T.B 1FL 3.5E+0 2.5E+2 <3.66E-5
52 9/21 258 T,B 1FL 3.0E+0 1.4E+2 8.29E-5
53 9/26 EAEEYITRES OBEIVY— R 1.2E-2 <1.5E+0
54 10/4 ERMEEEERT1FL, BTFL 5.0E-3 7.5E+2
55 9/30 FYRUVREELY 7HEAVY—F 8.0E-2 8.0E-2 4 8E+0
56 10/7 35 R/B #xX7 o, BV 1.0E+0 5.2E-1 <3.71E-5
57 9/26 35 R/ B #X7n0O 2.5E+0 2.0E-1 5.2E+1 <3.28E-5
58 9/29 B¥vRIVREE ZEEBERAITYUT 50E-2 7.7E-1 <b.28E-6
59 9/28 B¥vRIVREE ZEEBERAITYUT 50E-2 2.0E-2 3.9E+0 <b.28E-6
60 9/27 B¥ v RIVREE ZEEBERAITYUT 5.0E-2 3.0E-3 1.9E+0 <b.28E-6
61 9/26 B¥vRIVREE ZEEBERHAITYUT 5.0E-2 7.7E-1 <b.28E-6
62 9/25 B¥vRIVREE ZEEBERHAITYUT 5.0E-2 7.7E-1 <b.28E-6
63 9/22 B¥vRIVREE ZEEBERAITYUT 50E-2 5.9E+0 <7.09E-6
64 10/10 B¥vRIVREE ZEEBERAITYUT 1.0E-1 1.9E+0
65 10/2 B¥vRIVREE ZEEBERAITYUT 50E-2 5.2E-1 <b.28E-6
66 10/6 458 T,/B 1FL XPHAOR 4 5E+0 4 5E+0
67 10/2 458 T,/B 1FL X¥UHAORN 2.6E+0 2.6E+0
68 10/4 EREAFREEE 1FL 4.0E+0 4.0E+0
69 10/3 EREAFREEE 1FL 1.7E+1 1.7E+1
70 9/28 EURBEHIFREEE 1 FL 2.8E+0 2.8E+0
71 9/15 EURBEHIFREEE 1 FL 1.2E+1 1.2E+1
12 10/6 25 A—CEVEER 1B tE—42T1T U7 3.8E+1 7.7E+1
73 10/4 35 4—EVEER 1 E—42TU7 1.2E+1 1.0E+2
74 10/5 AT A—EVEE 1B E—%2IT U7 1.03E+1 1.0E-1 1.5E+2 3.9E-4
75 10/4 45 4—EVEE 1B E—42TVU7 5.0E+0
76 9/28 ALPSTYU7” HIC CEZSTAGET 6.0E-2 1.0E+0 <7.0E-1 <1.2E-4
77 9/27 ALPSTU7” HIC CERSTAGE?2 1.5E+0 1.5E+2 4 1E+1 <1.2E-4
78 9/26 ALPSTU7” HIC ARXRSTAGE? 2.0E+0 1.5E+2 8.6E+0 <1.2E-4
79 9/27 HWEZALPST7 KEES8C 1.2E-1 4 0E-2 <6.5E-1 <9.3E-5
80 9/26 WEALPSTY7 HIC MEDIA (35 LFEEK) 3.0E-3 <1.0E+0 <6.5E-1 <9.3E-5
81 9/25 WEZALPST7 ®EE17B 50E-2 4 0E-3 <6.5E-1 <9.3E-5
82 9/25 WEALPSTYy7 HIC MEDIA (ReadE2) 8.0E-2 <1.0E+0 <6.5E-1 <9.3E-5
83 9/25 BEALPSTY7 HIC CR%SLUDGE® 50E-2 3.0E+0 <6.5E-1 <9.3E-b
84 9/28 T LRER-RRERSR BB 7.0E+0 3.5E+2 >2.7E+2 4 3E-3
85 9/28 LU LRER—RRERSR F M 8.5E+0 5.0E+2 >2.7E+2 1.0E-3
86 9/27 LU LRER—RRERSR F Mm% 6.5E+0 5.0E+2 >2.7E+2 4 8E-3
87 9/27 LU LRER—RRERSR F Mm% 7.0E+0 4 0E+2 2.2E+2 3.6E-3
88 9/26 LU LRER—RRERSR F M 7.0E+0 4 0E+2 >2.7E+2 3.2E-3
89 9/26 U LREE-—HRERS F R 8.0E+0 2.5E+2 >2.TE+2 >b.4E-3
90 9/25 LU LRER—RRERSR F Mm% 6.0E+0 3.bE+2 2.3E+2 7.0E-5
91 9/25 LU LRER—RRERSR F M 6.0E+0 4 0E+2 >2.7E+2 1.9E-3
92 9/29 T LREE-—FRERE F=HF 56N55NL4NSINAILN— K 6.5E+0 <h.5E-1
93 9/25 OO LAREE—RFRERSE F=M% 68J67J66J65JH/IL—KKA 1.7E-2 <h.5E-1
94 10/5 T LAREE-—FRERE F=MF 60N5INSLENSINAILN—FH 7.5E+0 <h.5E-1
95 10/4 T LAREE-—FRERE F=MFH 64N63N62N6INAIL/N— KW 1.5E-2 <h.5E-1
96 10/3 IO LAREE-—RRERR F=H% 56L55L54L503LAHIL/N—FK 5.5E+0 <h.5E-1
97 10/2 IO LAREE—RRERR F=Mi% 56J,55J54J53JhIL/NN—KR 2.9E-2 <h.5E-1
08 9/8 —BRE FUERKEKH <4.6E-1
99 9/6 —RRE FURERREKH <4.6E-1

100 9/4 —RRE FURERREKH <4.6E-1

101 9/8 —RRE FHEREKH <4.6E-1

102 9/6 —RRE BHEREKT <4.6E-1

103 9/4 —HRE FREEREKH <4.6E-1

104 9/8 TEHmERE T1FL HEYK 3.0E-4 <1.0E-2 <h.4E-1

105 9/1456,78 TITHEmERE 1FL, 2FL 2.67E-1
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106 9/1,456,7.8 O XFEE BEAvY—K 1.6E-2
107 9/8 BIREEME CYNTNTAN <4.6E-1
108 9/8 IRIREWHSR vy /NNT/N\ITAN 5.0E-1 5.0E-1
109 9/8 FIRREEREZ T NTNTAR 6.0E-2 1.6E-1
110 9/8 RIREER FBEZIREERER 1.6E-2 1.6E-2
111 9/8 SPTZE. SEGEHNERE 1.6E-2 1.6E-2
112 9/5 —BRE B=HFE HILNN—FR 5.0E-4 <1.0E-2 <4 .6E-1
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